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T U 15 SAfqereiE SU-UT €, ok U9 1 SwR SAfeRan 159 20 el § & €1 @l
Yo e €1 geie 99 03 () 3fRi 1 B (15 x 3 =45)

This questions contains 15 very short type sub-questions. Answer each question in maximum 15 to

20 words. All questions are compulsory. Each question carries 3 (three) marks.

(1.1)

(1.2)

(1.3)

(1.4)

(1.5)

(1.6)

(1.7)

(1.8)

“forem qen et 3 URE” @ e 72

What is the difference between “Gypsum and Plaster of Paris™?

T {9 ©IThHM R Tk el 39 fi R 30kg oS @ I @l 21 Hell & grl e
1 fohe 22

A coolie is walking on a railway platform with a load of 30kg on his head. How much work is
done by coolie?

SA-eft, STt h1 GaE W F awdt 82

Why water hyacinth floats on water?

T Tgerel, Hiftar i W 2FE %1 Tk Y Wold ¢ T€ 96 © Tk Gl g He Sitad
iR 0.62 T W % Y A w1 T TR €2

Two players, Sangeeta and Reshma play a tennis match. It is know that the probaility of Sangeeta
wining the match is 0.62. What is the probaility of Sangeeta winning the match is 0.62. What

is the probability of Reshma winning the match?

T faet T FR fawa god 540 o1 Tk SRR 3 SH 20% o9 W =1 fady w1 %9 9o
T qT?

Selling price of toy car is I540. If the profit made by shopkeeper was 20%. What was the cost
price of this toy?

YA & MHR & Tk ©d HT &b 480m> €, I THRR onsf & o= *1 30 15m @ iR
ST W Tk HHRR S 1 o 20 m ¥l SE0 GHRR ST hl g A4 Hitd|

The area of a trapezium shaped field is 480m?, the distance between two parallel sides is 15m
and one of the parallel side is 20 m. Find the length of other parallel side.

wE W’ F 72

What is the Pie Chart?

T g ) 1 e w15 9 ofen 31 S8 1 uvd | geia f6g %R q 9 o feran
I M7 (1= 3.14)

The minute hand of a circular clock is 15 cm long. How far does the tip of the minute hand

more one hour? (w = 3.14)
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T difger guar Hfifa & W fafau
Write the name of parts of National Intellectual Property Rights.

(1.10) UGS Siq)

Transgenic Animals.

(1.11) STl geeE: THfaan SR g2

Energy Management : Issues and Challenges.

(1.12) O HI=g Yeored § 1 AW 272

What do you mena by fecal sludge management?

(1.13) SEq=mRo|

Bioremediation.

(1.14) dHeHU THIFHOM|

Venkatraman Ramakrishnan.

(1.15) & aTEe)

(2.1)

(2.2)

(2.3)

(2.4)

(2.5)

(2.6)

Biomagnification.

frafafed & & fF=l 10 wei & IW ifasran 100 IRl # fafew) y&% w1 6 (B:) i
*1 2l (10 x 6 = 60)
Write the answer of any ten of the following questions in maximum 100 words. Each question
carries 6 (six) marks.

R % THV] Hied 1 G DIl

Describe Bohr’s model of an atom.

Hiffe 99 T 3HH gHE|

Sonic Boom and its effects.

29 9 o i S T 9ol %Ee: 30 cm, 40 cm, 50 cm ® i USR] W ¥F SHEn 99,
@ T T T K] K Tde &h 9 B2

Three solid cubes of sides 30 cm, 40 cm and 50 cm respectively are melted and made one cube.
Find the total surface area of new cube.

arEhitgan W feoquft fafew)

Write note on Mitochondira.

Teh el W B w1 wfawd w1 famiflE @ e Wem w1 40% ?1 TS $Th "E@em 22 R
FHel H BEST I G ] SEI Rl HSA W AW G HioE|

In a class, the percentage of girls is 40% of total number of students and are 22 in number. Find

the ratio of tghe number of girls to the number of boys in the class.

3 SFRTT G H TR K1 AN 9 B A 3] ! H TWER d9€ad ¢, @ U ¢ Tk o 7
TN gol 9 ¥ 27 dAfu 7, 9 < Sfw GEN F 22
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(2.7)

(2.8)

(2.9)

et @

Sum of the digits of a two digit number is 9. When we interchange the digits, it is found that

the resulting new number is greater than the original number by 27. What is the two digit

number?

R A, TH% YhR TS ITARTAT i qHE|

Explain remote sensing, its types and uses.

Sereed $e 1 eld 82 THS 9 THEH B €7

What are fossil fuels? What are their disadvantages?

SAar URadH, 36 HRU Ud MEHHs U™l Sl SHeed |

Explain climate change, its causes and remedial measures.

(2.10) foem ==saE-2 R feoof fafeu)

Write note on Mission Chandrayaan-2.

(2.11) wAiERT G sifufam-1986 1 yq@ faeman gmemes |

Explain salient features of Environment Protection Act —1986.

(2.12) &1 ®Ea R fewoft fafau)

(3.1)

Write note on Bt Crops.

TH A H 3 IU-URA T, YOk UH 1 SR SAfuhad 300 VRl H I 2| |elt wed Afard €
TAF WA H ol fasheu ot 1 el for sriafer fasey w1 SW T ® ¥ s@e ww
Seoi@ ST & Gue AEEd: w| Y&E T 15 (THE) 3Rl I &l (3 x 15 = 45)
There are 03 sub-questions in this question, each has to be answered in maximum 300 words.

All questions are mandatory. There is alo an internal option in every question. the answer to
the internal option of the candidates is to be made explicitly befor the answer. Each questions

carries 15 (fifteen) marks.

(A) F=1 OROlt 1 HgEs AR H¥eh, A ¥ T gee @1 IW S

oS et Taenfgat w1 gy q&: dfget Raerst
HerhaTait 15 2:1
R 12 1:1
T 8 1:7
RRED 13 1:4
deffed 26 1:1
forepe 16 3:1
LRG| 10 2:3

Fa faanfedl &t @ = 100

(a) et wfgen faenteal =t g fhadt 22

(b) fre Ta ¥ Haifus geu faenteal 4w foran?

(c) TTF H & H1 9N HA ([EW o Afgen) faenfedi w1 fram g 22
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T :(3.2)(A)

(B)

3 : (3.3)(A)

(B)
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Study the following table carefully and answer the questions given below :

Sports Total players percentage Male : Female Players
Boxing 15 2:1
Chess 12 1:1
Snooker 8 1:7
Swimming 13 1:4
[ Badminton | 20 | T 11
Cricket 16 3:1
Shooting 10 2:3

Total number of Players = 100
(a) What is the total number of female players?
(a) In which sport maximum number of male players partcipated?
(a) What is the percentage of male players participated in snooker to all the players (male and
female)?
IAAT/OR
Foieh ST A1 B? FEiH HHfET UREi FHEfen ° fhg yHn fue 227 Feien wegfen &%

1 TN B Fehd €7

What is quantum supremacy? How quantum computing is different from traditional computing?

What can be the possible applications of quantum computing?
S % deRfeud Gdl 1 adHE Teafd 1 gl ) wE 9fae § St qerere w1 faeem
FRI

Discuss the current scenario of alternative sources of energy and give an account of their futuer
prospectives.

AYAT/OR
oI e Ao 1 WIS SR eMfie TRt W ST uE wWesy| TWe Seeu it |

Explain the applications of science and technology in social and economic development. Give
its these glands.
3T=0: el UferRl | dn wEed 8?7 3 ufed § wifed B ol SRANY % e i gad H
ELERER]
What are endocrine glands? Describe in brief the functions of hormones secreted by these
glands.

IYAT/OR
R o=t ot o1 @ S T 39 e o) fower W T AR R H e A
27 TH AT WA A IS H S B W1 W el Sufersel o qifed €9 9 S gl Tohd
€2
What are the impediments in disposing huge quantities of discarded solid wastes which are

continuously being generated? How do we remove safely the toxic wastes that have been
accumulating in our habitable environment?
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SECTION-B / @Uus-@

WS § 15 Al T SU-UIA §, Yodh W 1 SWR SAfeshad 15 9 20 wiskl ° 3 g1 weft
e At €1 geieh w9 03 (7)) 3Tl w1 R (15 x 3 = 45)

This questions contains 15 very short type sub-questions. Answer each question in maximum 15

to 20 words. All questions are compulsory. Each question carries 03 (three) marks.

(1.1)

(1.2)

(1.3)

(1.4)

(1.5)

(1.6)

(1.7)

(1.8)

(1.9)

IR & R T ® 2011 H A0 F SFIER FERAl LG8 FHH 22

In which State of India has the lowest literacy rate according to 2011 census?
G.D.R. ¥ =1 sifeum 27

What do you mean by G.D.R.?

‘IAqE THe Hed' ¥ Y I wHed B2

What do you mean by ‘Minimum Support Price’?

IR 1 LT o H redegereen & fhw & o1 feew wa@ st 22
Which sector of economy contributes the highest share in National Income of India?
eI U Y P HEEd B2

What do you mean by devaluation?

feo@ (TRIPS) +1 ©?2

What is TRIPS?

T 39 1 /O &1 fRa fafar 22

How many measuring methods of Natonal Income are there?

Gohel SR SIS § SR 1 A B?

What do you mean by Gross Domestic Product?
W o7 Tfrea wri%d # 7
What is the Start Up India Programme?

(1.10) Y=~ USRI 72

What is Disguised Unemployment?

(1.11) Gfera IUeR (99 wieh) 1 872

What is Buffer Stock?

(1.12) “gSfi-Scafs e’ @ Sueht 1 RE 82

What do you mean by ‘Capital-Output Ratio’?

(1.13) HrUey e = 272

What is the relative Poverty?

(1.14) 3fear =rsmn = 22

What is UDITA Yojana?

©



- ‘ @

(1.15) 9Ra ¥ J9Mel $@Iege ATk aPRiest #8l ® feerd 22

(2.1)

(2.2)

(2.3)

(2.4)

(2.5)

(2.6)

(2.7)

(2.8)

(2.9)

Where is National Institute of Virology is located in India?

frefafad § 9 fF=1 10 799 & S| stfushan 100 vl ¥ fafew) g 797 6 (D:) s
Eald (10 x 6 = 60)
Write the answers of any ten of the following questions in maximum 100 words. Each question
carries 6 (six) marks.

‘AR A AREH % @ W & 9R H dasd)

Explain the important pillars of ‘Atmanirbhar Bharat Abhiyan’.

T Y9 & fafmio eF & faem o SuRd e w1 HH ® HROT F1 Ieor@ wied|
State the reason for the lack of infrastructure for the growth of manufacturing sector in Madhya
Pradesh.

‘iRt W R srefereeen o groiear ® 9fg g8 ?1' T8 Ged oy famw fafau)

‘Globlization leads to sustainability in the Indian Economy.’ State your views in this regard.

UL 3 T@ihd 1 Had adisdl

Explain the imprtance of National Income Accounting.

IRA § TS HIO B dgerehl Wit i giar RS it 9 fae wh 82

How is the methodology followed by the Rangarajan Committee different from that of the
Tendulkar Committee in measuring poverty in India?

‘Fa &3 3fteshivl’ w1 YoAihd Hid g ATHIU KU W $Hh YHE FaEy

Examine the ‘Service Area Approach’ in terms of rural credit.

R H Hifger TER el @ T €2 geAih it |

Why is Monetary Transmission not effective in India? Examine.

‘ot enfeies &' steifre fowm, fafmion o frafa 29 T 50 @i @1 fodem wifsm
‘Special Economic Zones’ are an engine of industrial development, manufacturing and exports.

>

Explain.
T W & Y fawm § et it gftemr w1 e s
Explain the role of Horticulture in agricultural development of Madhya Pradesh.

(2.10) F9 2020-21 & YoH 3 fAE H 9RG & Tha R SAR &1 Ggradl i e S|

Explain thetrends of GDP of India in frist two quarters of the year 2020-21.

(2.11) 7 YW & H9 & H &I HASINRAI hl AT hifed|

State the major weaknesses of madhya Pradesh in Agricultural Sector.

(2.12) ‘g fastett & &9 § dfsqel @ 9oiel &1 & gon 81’ qHesd|

‘Subsidy in the form of free electricity has led to depletion of gound water.” Explain it.
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(3.1)

(3.2)

(3.3)

e @

@ 9 ¥ 03 SU-UYH ¥, Y U 1 S Afehad 300 v H A 7| gl we i
Ty 99 H Sl faswen off 31 sremeff fg oriafie fashed &1 SW R © T SHHR T
el I & GUY AEEd: Y YAE T 15 (TEE) 3R w2 (3 x 15 = 45)
Three are 03 sub-questions in this question, each has to be answered in maximum 300 words.

All questions are mandatory. There is also an internal optional in every question. The answer
to the internal option of the candidates is to be made explicitly beofre the answer. Each question

carries 15 (fifteen) marks.

R SAeferenel H Hasieh & hi h1gAl i JHent T Foufa 1 geien it

Evaluate the role and performance of Public Sector Enterprises in the Indian economy.
AYAT/OR

T @rE e A, 2013 & fae=m witsEl

Explain the National Food Security Act, 2013

g | U 3R Il SIS i Wehfa W HRON 1 Seoid shifs|

Explain the nature and causes of rural and urban unemployment in India.
AYAT/OR

IRd § T el & GuRl 1 Syaferl @ik faweaet w1 favewo st

Analyse the achievement and failures of second generation reforms in India.

AR R g U 29 SUedl wrieH & d8d SIvd fawm & YEem o) foe=a w3l

Explain the provisions of skill development under Make in India Programme taken by
Government of India.

AYAT/OR
TS 3R ST HT A hl FH HH H GEAIHE G G HY Tk SYH & Hehdl
22 9 A Yehe B

How Universal Basic Income may be a tool of reducing income inequality and poverty? Give
your opinion.
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